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2.  A�� �  ��<�B �!#�� �	'% C��lwinc �!
 $��*� �������� 0��!#�� $(!)D� $  �<� ��67)( �  +: 

lwinc rt, rs, imm # rt ← Mem[rs + sign_extend(imm)] , rs ← rs + 4 
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5.  R<Cache �<�	S  �T� �� �� =<] 0�2-GH� � : 

CPU Address Space: 2
24

 words 

Cache Size: 4096 (2
12

) words 

Block (Line) Size: 8 words 

Mapping: 8-way set associative 

Write Strategy: Write-Back 
^�� ( A����<� _!7  �� $T��� �<�9�� �	<�)�. )8 ��)�(  

a ( ��Z#	  ���I.Tag �	'% �		I. &�W	�� �� >, �7	� �5 ��!#�� +. )7 ��)�(  

b ( �<� ���� ���	� �ZBCache /� ��	� ��!� N<�� $T��� ���W� $M O�
�  )3 ��)�(  

� (�Z���, ���� �<�  ���� $  [M �� �������� c�!.�!.	�  ���!
��%A Hit ���I. $M +� Miss O�
 �'5�!4 3 ��)�(  

4, 5, 6, 7, 8, 9, 10, 11, 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15 

6. �<�	S  �T� �� �� = �W� �% $Id�.  �% $Id� �<� e	�V ���B� ���  ��[<��  �<1�������� ���#'% � /#3<�  �<� ���� +� �� �� �I 

0��!#�� A��%  + $  ���I. $Mbubble �5� ���� O)10 ��)�( 

^�� ([<��  �� fB �<1Register File  �	7 �� g	5 �����data forwarding �3	�.  

a(  $	7%data forwarding [<�� ��#4�� �� �6)� ��5 ���	� �<1 ��� ��
 ����.  
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a ( l!� C�� � �<, ��� �6)� delay slot �!#��0�  h������ �+��� �!#�� +� �< + �!#�� R< $  cW�O  O$�!SM)7 ��)�(  

 

>��� :150  $W	��  -�!��	
�  k   �*��i)��i�!��<�  



    

    

  


